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1| x i 30.8 5,189 i3 i3 i3 i3 i3 i
2| =« 53] 30.1 5,328 i3 i3 i3 i3 i3 i
3| & 53] 29.6 5,247 i3 i3 i3 i3 i3 i
4| + 53] 29.4 5,243 i Fiid = Fiid = iid
5| B i 30.2 5,213 i Fiid = Fiid = iid
6| A i 30.5 4,659 i3 i3 i3 i3 i3 i
7| w i 30.2 4,585 i iid = Fiii = Fiid KBS (RK - BERO)
8| K 2 30.3 4,984 i iid = i3 = iid
9| * 53] 30.0 4,009 i iid = i3 = iid
10 & i 30.9 3,673 i iid = i3 = iid
11| + 53] 29.7 5,490 Fiid it i i3 " F:53
12 B8 53] 29.2 5,507 Fiid it i i3 " F:53
13| A i 29.6 5,477 i iid = i3 = iid
14 = 53] 27.9 5,472 i iid = Fiii = Fiid KBS (RK - BERO)
15[ 53] 28.5 5,492 i iid = i3 = iid
16| =® i 29.3 5,471 Fiid Fiii = i3 Eiid i3
17| = 53] 29.7 5,161 i i = i i it
18| + 53] 30.0 5,457 Fiid = i i3 Eiid F:53
19( B8 i 30.5 5,459 Fiid = i i3 Eiid F:53
20| B i 30.8 5,460 Fiid = i i3 Eiid F:53
21| % i 30.3 5,253 Fiid Fiii = i3 Eiid i3 K& (RIK - BERE)
22| ik = 30.0 5,350 Fiid Fiii = i3 Eiid i3
23| & i 29.7 5,464 Fiid = i i3 Eiid F:53
24| & i 29.7 5,339 i i = i i it
25| + i 29.5 5,428 Fiid = i i3 Eiid F:53
26| H 53] 27.9 5,431 i i3 i i3 it i
27| B i 28.6 5,336 Fiid Fiii i i3 it i3
28| % == 28.6 5,360 Fiid Fiii i i3 it i3 K& (RIK - BRE)
29| ik == 29.2 5,333 Fiid Fiii i i3 it i3
30| * i 29.2 5,374 Fiid Fiii i i3 it F:53




